Exam. Code: 0310

Sub. Code: 2683
2071

M.A. (Economics) Fourth Semester
MAECO-403 & 404 [Opt. (¥)]: Econometrics - II
(In all mediums)

Time allowed: 3 Hours Max. Marks: 80

NOTE:

II.

III.

IV.

VI

VIL

VII.

IX.

Attempt five questions in all, including Question No. I which is compulsory
and selecting one question from each Unit. Use of non-programmable
calculator is allowed.
X-X-X

Attempt any ten of the following:-

a) What do you mean by structural form of model?

b) What are the assumptions of simultaneous equations modelling?

c¢) What do you mean by an instrumental variable?

d) How 3SLS id different from 2SLS? v

e) What do you mean by likelihood function?

f) What is the major shortcoming of LPM that prevails even after the use of weighted
least square model?

g) Differentiate the terms censored and limited dependent variables with an appropriate
example. :

h) Differentiate the two terms 'pooled’ and 'panel' data models.

1) What do you mean by Vi ~ iid (,uv, o’

j) What do you mean by odd ratios computed after estimation of Logit-model?

k) What do you mean by causality?

1) Differentiate the terms stationarity around origin and stationarity around drift.

m) How cointegration and unit-root testing are related with each other?

n) Discuss ARIMA as a non-linear model?

0) Do you think VAR is applicable when there exists a long run cointegration
relationship among component time series variables in a regression model?

(10><2)

UNIT -1
Discuss the method of 3SLS in detail. Why GLS is needed in 3 stage of estlmatlon of
the parameters of a simultaneous equations model? (15)

What a model with more than two instrumental variables for a single variable is called?
How these instrumental variables are helpful in estimating the parameters of a

simultaneous equation model? (15)
UNIT - 11

Specify a hypothetical model with the dichotomous dependent variable and discuss the

estimation of the parameters of a Logit model. (15)

What do you mean by marginal effect at mean? Discuss the process to obtain marginal
effects of Probit model. (15)
UNIT - III :
What is the major shortcoming of random effect modelling? How will you decide
whether random effect or fixed effect model is an appropriate choice while estimating a
panel data regression model? (15)

Discuss the Adaptive expectations approach. How adaptive expectations represent 2
systematic error? Note that an error having a non-zero mean such that its effect is not
reduced when observations are averaged is called systematic error. (15)

UNIT -1V
Discuss Correlogram based and unit-root based tests of stationarity of a time series.
(15)
How VAR is a better choice over a simultaneous equations model? Differentiate the
terms structural VAR and reduced form VAR. 4 (15)

X-X-X
(Hindi/Punjabi versions enclosed)
- P.T.O.
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